<iframe width="560" height="315" src="https://www.youtube.com/embed/k9sYh2r1KpA" frameborder="0"
allow="accelerometer; autoplay; encrypted-media; gyroscope; picture-in-picture" allowfullscreen></iframe>
Please listen to the video to learn if and whether and answer the questions.
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fcor + [2.5] 1.

The students debate ____ to accept the government’s offer.

A.if

B. whether
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fic5y : [2.5] 2.
Which the sentence?
A. <iframe width="853" height="480" src="https://www.youtube.com/embed/Tsdyv4Uba7s" frameborder="0"
allow="accelerometer; autoplay; encrypted-media; gyroscope; picture-in-picture" allowfullscreen></iframe>
B. If the government will enforce the policy is something that everyone is discussing
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